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g0oboboOoos0b0b0obO0ob0U0o0b0bOobOUoO0bO0OobOobOOobDOobO0oobUobDOobDOoo
goo

Q=1102390000
P = 510510n + 110239
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2P + 1 =2(510510n + 110239) + 1 = 1021020n + 220478 + 1 = 1021020n + 220479

0000010210200 20 2003,5,7,11,13,17000000 10000000

220479 = 3 x 7 x 10499 x 1

oooo
2P + 1 = 21(48620n + 10499)

go0oOdoOoboOo210000000bO0b000OoO0oO0oOo0oDOO0obDO00oDOobDOobOoOooOooOg
goog

Q=1102490000
P =510510n + 110249

2P + 1 = 2(510510n + 110249) + 1 = 10210201 + 220498 + 1 = 10210201 + 220499
0000010210200 20 2003,5,7,11,13,17000000 1000000

220499 = 311 x 709 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 220499

gboboobooobooboboobboobboobooobooo

Q=1102510000
P =510510n + 110251

2P + 1 = 2(510510n + 110251) 4 1 = 10210201 + 220502 + 1 = 10210201 + 220503
0000010210200 20 2003,5,7,11,13,17000000 10000000

220503 =3 x 31 x 2371 x 1

oooo
2P + 1 = 3(340340n + 73501)

oboobobooo3obobooooooboboooobobobooboDoboboobOobDoooo
goo

Q=110261 0000
P =510510n + 110261

2P 4+ 1 =2(510510n + 110261) + 1 = 1021020n + 220522 + 1 = 10210201 + 220523

0000010210200 20 2003,5,7,11,13,17000000 1000000

220523 =103 x 2141 x 1
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0000 102102000000000000000

2P 4+ 1 =510510m + 220523

gbobooobogobooboboobboobboooboooboon

Q=1102630000
P = 510510n + 110263

2P + 1 = 2(510510n + 110263) + 1 = 10210201 4 220526 + 1 = 10210201 + 220527
0000010210200 20 2003,5,7,11,13,17000000 10000000

220527 =3 x 3 x 107 x 229 x 1

oooo
2P + 1 = 3(340340n + 73509)

gooooooOo3oobooooooobo0ooU0bOoUbDOoUobOoUobDbOUDbDOoUobDboUODoO
oono

Q=1102670000
P =510510n + 110267

2P + 1 = 2(510510n + 110267) 4+ 1 = 10210201 4 220534 + 1 = 10210201 + 220535
0000010210200 20 2003,5,7,11,13,17000000 10000000

220535 =5 x 7 x 6301 x 1

oooo
2P + 1 = 35(29172n + 6301)

o0boobOooo3boogbobooboooboboooboooboobooboboooobOoobOoo
good

Q=1102690000
P = 510510n + 110269

2P 4+ 1 =2(510510n + 110269) + 1 = 10210201 + 220538 + 1 = 10210201 + 220539

0000010210200 20 2003,5,7,11,13,17000000 10000000

220539 =3 x 11 x 41 x 163 x 1

oooo
2P + 1 = 33(30940n + 6683)

gooooooboOo33booboooooboboooooboooooDOobDooDobDOobobooboOooboo
good
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Q=1102730000
P = 510510n + 110273

2P + 1 = 2(510510n + 110273) 4+ 1 = 10210201 4 220546 + 1 = 10210201 + 220547
0000010210200 20 2003,5,7,11,13,17000000 1000000

220547 =23 x 43 x 223 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 220547

gbooboobogobooboboobboobooobuooooboon

Q=1102810000
P = 510510n + 110281

2P 4+ 1 =2(510510n + 110281) + 1 = 10210201 + 220562 + 1 = 10210201 + 220563

0000010210200 20 2003,5,7,11,13,17000000 10000000

220563 =3 x3x3 x3 xT7x38 x1

oooo
2P + 1 = 21(48620n + 10503)

goooooboOo21000b0000ob0boobooobooooDoobDOooDOobDOoboboboOoboO
good

Q=1102870000
P =510510n + 110287

2P + 1 =2(510510n + 110287) 4+ 1 = 1021020n + 220574 + 1 = 1021020n + 220575

0000010210200 20 2003,5,7,11,13,17000000 10000000

220575 =3 x5 x b x17x 173 x 1

oooo
2P + 1 = 255(4004n + 865)

oboboboo2s0booooooobooboboooooooobobobobpDoooooo
good

@=110291 0000
P =510510n + 110291

2P 4+ 1 =2(510510n + 110291) 4+ 1 = 10210201 + 220582 + 1 = 10210201 + 220583
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0000010210200 20 2003,5,7,11,13,17000000 10000000

220683 =11 x 11 x 1823 x 1

oooo
2P + 1 = 11(92820n + 20053)

o0oobOoobolnoooooobO0oobobooobO0oob0o0ob0oOobUoboooobOobobOoo
good

Q=1102930000
P = 510510n + 110293

2P + 1 = 2(510510n + 110293) 4+ 1 = 10210201 4 220586 + 1 = 10210201 + 220587
0000010210200 20 2003,5,7,11,13,17000000 10000000

220587 =3 x 73529 x 1

oooo
2P + 1 = 3(340340n + 73529)

gooooooOo3soobooooooobo0oOoU0bOoUbDOoUobDOoUobDbOUDOoUobDbOUDoOO
oono

Q=1103030000
P = 510510n + 110303

2P + 1 = 2(510510n + 110303) + 1 = 10210201 4+ 220606 + 1 = 10210201 + 220607
0000010210200 20 2003,5,7,11,13,17000000 1000000

220607 = 167 x 1321 x 1
Ooooo 10210200 000000000000
2P + 1 = 510510m + 220607

goboobooobooboboobboobboobooobooo

Q=1103090000
P = 510510n + 110309

2P + 1 =2(510510n + 110309) + 1 = 10210201 + 220618 + 1 = 10210201 + 220619

0000010210200 20 2003,5,7,11,13,17000000 10000000

220619 =7 x 31517 x 1

oooo
2P + 1 = 7(145860n + 31517)
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goooooogvyoUooOOoO0oOoU0OOoU0OO0DOOU0DOOoU0ODOU0ODOOUODOODOOUODOO
goo

Q=1103110000
P =510510n + 110311

2P + 1 =2(510510n + 110311) 4+ 1 = 1021020n + 220622 + 1 = 1021020n + 220623

0000010210200 20 2003,5,7,11,13,17000000 10000000

220623 = 3 x 13 x 5657 x 1

good
2P +1 = 39(26180n + 5657)

000000003 oooooooooboooobooobo0oboobobDoooDbOooDbOon
good

Q=1103170000
P = 510510n + 110317

2P + 1 =2(510510n + 110317) + 1 = 1021020n + 220634 + 1 = 10210201 + 220635

0000010210200 20 2003,5,7,11,13,17000000 10000000

220635 =3 x 3 x5 x 4903 x 1

oooo
2P + 1 = 15(68068n + 14709)

gooooooOoboobooOooobOoboobooOooUoOo0oDOobDOoOoDOobDOobooOooboOooo
good

Q=1103210000
P = 510510n + 110321

2P + 1 = 2(510510n + 110321) 4+ 1 = 10210201 + 220642 + 1 = 10210201 + 220643
0000010210200 20 2003,5,7,11,13,17000000 10000000

220643 = 17 x 12979 x 1

oooo
2P +1 = 17(60060n + 12979)

oboobooobo1ivyooobobo0obOoU0oobOboooOboOoobOo0oboobUobDooobOoobOoo
good

Q=1103230000
P = 510510n + 110323
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2P 4+ 1 =2(510510n + 110323) + 1 = 10210201 + 220646 + 1 = 10210201 + 220647

0000010210200 20 2003,5,7,11,13,17000000 10000000

220647 =3 x T x 7Tx19x 79 x 1

oooo
2P + 1 = 21(48620n + 10507)

go0oOdoOoboOo210000000bO0b000OoO0oO0oOo0oDOO0obDO00oDOobDOobOoOooOooOg
goog

Q=1103290000
P = 5105101 + 110329

2P + 1 = 2(510510n + 110329) + 1 = 10210201 + 220658 + 1 = 10210201 + 220659
0000010210200 20 2003,5,7,11,13,17000000 10000000

220659 = 3 x 73553 x 1

good
2P + 1 = 3(340340n + 73553)

o00ob0ooO0oo30b00b0obooo0ooboobooDoOobOobobDobDobOoobOobDOobDOon
goo

Q=1103330000
P = 510510n + 110333

2P +1 = 2(510510n + 110333) 4+ 1 = 10210201 4 220666 + 1 = 10210201 + 220667
0000010210200 20 2003,5,7,11,13,17000000 1000000
220667 = 220667 x 1
0000 10210200000000000000
2P + 1 = 510510m + 220667

gbobogobooobooboboobboobbooobuooooboon

Q=1103390000
P = 5105101 + 110339

2P 4+ 1 =2(510510n + 110339) + 1 = 10210201 + 220678 + 1 = 10210201 + 220679

0000010210200 20 2003,5,7,11,13,17000000 1000000

220679 = 73 x 3023 x 1
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0000 102102000000000000000

2P 4+ 1 =510510m + 220679

gbobooobogobooboboobboobboooboooboon

Q=1103510000
P = 510510n + 110351

2P + 1 = 2(510510n + 110351) 4 1 = 10210201 4 220702 + 1 = 10210201 + 220703
0000010210200 20 2003,5,7,11,13,17000000 10000000

220703 =7 x 41 x 769 x 1

oooo
2P + 1 = 7(145860n + 31529)

goooooogvoUoooOoooOooOOoU0OOoU0bDOoU0UDOOoUoDbDOoUbOOUODbDOobDbOUODoOO
oono

Q=1103530000
P = 510510n + 110353

2P + 1 = 2(510510n + 110353) + 1 = 10210201 4 220706 + 1 = 10210201 + 220707
0000010210200 20 2003,5,7,11,13,17000000 10000000

220707 =3 x 3 x 137 x 179 x 1

good
2P + 1 = 3(340340n + 73569)

g0obOobooo30bobobooooobobooDooboobobDobDobooobUoboobDoo
goo

Q=1103590000
P = 510510n + 110359

2P 4+ 1 =2(510510n + 110359) + 1 = 1021020n + 220718 + 1 = 10210201 + 220719

0000010210200 20 2003,5,7,11,13,17000000 10000000

220719 =3 x 29 x 43 x H9 x 1

oooo
2P + 1 = 3(340340n + 73573)

gooooooOo3soooooooobooooUoboobDOoobOoUobbOODbDOoOobboUDoO
goo
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Q=1103710000
P = 510510n + 110371

2P + 1 =2(510510n + 110371) + 1 = 10210201 + 220742 + 1 = 10210201 + 220743

0000010210200 20 2003,5,7,11,13,17000000 10000000

220743 = 3 x 3 x 24527 x 1

oooo
2P + 1 = 3(340340n + 73581)

go0oooooOo3o0boo0oo0ooU0ooU0bOoUDOOo0oDbDOoUbOOUDOoUobDOUDoOO
goo

Q=1103770000
P = 510510n + 110377

2P 4+ 1 =2(510510n + 110377) + 1 = 1021020n + 220754 + 1 = 1021020n + 220755

0000010210200 20 2003,5,7,11,13,17000000 10000000

220755 =3 x H x 14717 x 1

oooOo
2P + 1 = 15(68068n + 14717)

oboobOoooiboooboooooobooooObooobOo0oboobUobDoooDbOobobOoo
good

Q=110387 0000
P = 510510n + 110387

2P + 1 =2(510510n + 110387) + 1 = 1021020n + 220774 + 1 = 1021020n + 220775

0000010210200 20 2003,5,7,11,13,17000000 10000000

220775 =5 x 5 x 8831 x 1

oooo
2P + 1 = 5(204204n + 44155)

goooooo0ds0U0b0O0bOO0ODbOO0OOU0DOU0UDOUODOUODOUODOODOUODOO
oono

Q=110389 0000
P = 510510n + 110389

2P 4+ 1 =2(510510n + 110389) + 1 = 1021020n + 220778 + 1 = 1021020n + 220779
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0000010210200 20 2003,5,7,11,13,17000000 10000000

220779 =3 x 3 x3x 13 x17x 37 x 1

oooo
2P + 1 = 663(1540n + 333)

o00ob0obOoboes300000O00O0O0O0ODOODODODODOOOODODODODODODbOOO
good

Q=1103930000
P = 510510n + 110393

2P + 1 = 2(510510n + 110393) 4+ 1 = 10210201 4 220786 + 1 = 10210200 + 220787
0000010210200 20 2003,5,7,11,13,17000000 10000000

220787 =7 x 31541 x 1

oooo
2P + 1 = 7(145860n + 31541)

goooooogvooooOoooOoobOoU0OOoU0bDOU0UDbDOoUoDbDOoUobOOUODOOobDOUODOO
oono

Q=1103990000
P = 510510n + 110399

2P + 1 = 2(510510n + 110399) + 1 = 10210201 + 220798 + 1 = 10210201 + 220799
0000010210200 20 2003,5,7,11,13,17000000 1000000

220799 =19 x 11621 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 220799

gooboobooobooboboobboobboobuooobooo

Q=1104010000
P =510510n + 110401

2P + 1 =2(510510n + 110401) + 1 = 10210201 + 220802 + 1 = 1021020n + 220803

0000010210200 20 2003,5,7,11,13,17000000 10000000

220803 =3 x 11 x 6691 x 1

oooo
2P + 1 = 33(30940n + 6691)
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0O000doO0oboO0o3300b0oo00ooobo0obooooUoooo0ooDobDOooDobDOobooOooOooog
goog

Q=1104130000
P =510510n + 110413

2P + 1 =2(510510n + 110413) + 1 = 1021020n + 220826 + 1 = 1021020n + 220827

0000010210200 20 2003,5,7,11,13,17000000 10000000

220827 = 3 x 73609 x 1

good
2P + 1 = 3(340340n + 73609)

o00ob0ooO0oo30b00b0oooo0ooboobooDobobobobODobDobOoobOoDOoDOon
goo

Q=1104170000
P = 5105101 + 110417

2P + 1 =2(510510n + 110417) + 1 = 1021020n + 220834 + 1 = 10210201 + 220835

0000010210200 20 2003,5,7,11,13,17000000 10000000

220835 =5 x 29 x 1523 x 1

oooo
2P + 1 = 5(204204n + 44167)

gooooooOdOs0U0bOO00bOOU0bOO0OO0ODOU0ODOUODOUODOUODOODOUODOO
ooo

Q=1104190000
P =510510n + 110419

2P + 1 = 2(510510n + 110419) 4+ 1 = 10210201 + 220838 + 1 = 10210201 + 220839
0000010210200 20 2003,5,7,11,13,17000000 10000000

220839 = 3 x 73613 x 1

oooo
2P + 1 = 3(340340n + 73613)

o0obobooo30bobobooooobobDooDooboboboDobDobooobUobDOobDOoo
goo

Q=1104230000
P = 5105100 + 110423
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2P + 1 =2(510510n + 110423) + 1 = 10210201 + 220846 + 1 = 1021020n + 220847

0000010210200 20 2003,5,7,11,13,17000000 10000000

220847 =11 x 17 x 1181 x 1

oooo
2P + 1 = 187(5460n + 1181)

go0oooOooorogoooooooo0oobooooOogooOobbo0o0ooooDoUoDoo
goog

Q=1104310000
P =510510n + 110431

2P + 1 = 2(510510n + 110431) 4+ 1 = 10210201 + 220862 + 1 = 10210201 + 220863
0000010210200 20 2003,5,7,11,13,17000000 10000000

220863 = 3 x 83 x 887 x 1

oooo
2P + 1 = 3(340340n + 73621)

o00ob0ooO0oo30b00b0obooo0ooboobooDoOobOobobDobDobOoobOobDOobDOon
goo

Q=1104370000
P = 5105100 + 110437

2P + 1 = 2(510510n + 110437) 4+ 1 = 10210201 4 220874 + 1 = 10210201 + 220875
0000010210200 20 2003,5,7,11,13,17000000 10000000

220875 =3 x5 x5 x5Hx19x31x1

oooo
2P + 1 = 15(68068n + 14725)

gooooOooOoboobooOooobOoboobooUooUoooDOobDOoOoDOobDOoboooboOooog
good

Q=1104410000
P =510510n + 110441

2P + 1 =2(510510n + 110441) + 1 = 1021020n + 220882 + 1 = 1021020n + 220883

0000010210200 20 2003,5,7,11,13,17000000 10000000

220883 =13 x 13 x 1307 x 1
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oooo
2P + 1 = 13(78540n + 16991)

oboobooobooooobooooobobooobooboobooboboooobOooboo
good

Q=1104430000
P =510510n + 110443

2P 4+ 1 = 2(510510n + 110443) + 1 = 10210200 + 220886 + 1 = 10210200 + 220887
0000010210200 20 2003,5,7,11,13,17000000 10000000

220887 =3 x3 x3x3x3x3x3x101x1

oooo
2P + 1 = 3(340340n + 73629)

oooooooob3sooooooboobooooooobooooooooboboooooobbBbOoOo
ooo

Q=1104470000
P = 510510n + 110447

2P + 1 = 2(510510n + 110447) 4+ 1 = 10210201 4 220894 + 1 = 10210201 + 220895
0000010210200 20 2003,5,7,11,13,17000000 10000000

220895 =5 x 44179 x 1

oooo
2P + 1 = 5(204204n + 44179)

gbooboooosObobobobooobooboboboobobOobUobDoboDoboboobOobDOobDOoo
goo

Q=1104590000
P =510510n + 110459

2P + 1 =2(510510n + 110459) + 1 = 1021020n + 220918 + 1 = 1021020n + 220919

oo0o0o00o10210200 20 2003,5,7,11,13,17000000 1000000

220919 = 220919 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 220919

ooboobooobooboboobboobbooobooobooo
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Q=1104710000
P = 5105100 + 110471

2P + 1 = 2(510510n + 110471) 4+ 1 = 10210201 4 220942 + 1 = 10210201 + 220943
0000010210200 20 2003,5,7,11,13,17000000 1000000

220943 = 109 x 2027 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 220943

gbobooobogobooboboobboobooobuoooboon

Q=1104770000
P = 5105100 + 110477

2P 4+ 1 =2(510510n + 110477) + 1 = 1021020n + 220954 + 1 = 10210201 + 220955

0000010210200 20 2003,5,7,11,13,17000000 10000000

220955 =5 x 7 x 59 x 107 x 1

oooo
2P + 1 =35(29172n + 6313)

goooooboOo3oobobooooboboobooobooooDooboobDobDOobooboOooboo
good

Q=1104790000
P =510510n + 110479

2P + 1 =2(510510n + 110479) + 1 = 10210201 + 220958 + 1 = 10210201 + 220959

0000010210200 20 2003,5,7,11,13,17000000 10000000

220959 = 3 x 3 x 24551 x 1

oooOo
2P + 1 = 3(340340n + 73653)

gbooboobooo3obobooooooboboooobobobooboDobooobOobDOoooo
goo

@Q=110489 0000
P =510510n + 110489

2P 4+ 1 =2(510510n + 110489) + 1 = 1021020n + 220978 + 1 = 10210201 + 220979
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0000010210200 20 2003,5,7,11,13,17000000 10000000

220979 = 11 x 20089 x 1

oooo
2P + 1 = 11(92820n + 20089)

oboobooobolnooooboooooboboooboobOo0obooboboooobOoobOoo
goog

Q=110491 0000
P = 510510n + 110491

2P + 1 = 2(510510n + 110491) 4 1 = 10210201 + 220982 + 1 = 10210201 + 220983
0000010210200 20 2003,5,7,11,13,17000000 10000000

220983 =3 x 7T x 17 x 619 x 1

ooono
2P + 1 = 357(2860n + 619)

O0000DbO0O03y0000000000o00obOoDO0oD0o000bO0ob0ODbOODOoDOoDOn
good

Q=1104970000
P =510510n + 110497

2P + 1 = 2(510510n 4 110497) + 1 = 1021020n + 220994 + 1 = 1021020n + 220995
0000010210200 20 2003,5,7,11,13,17000000 10000000

220995 =3 x3x3xHx1637 x 1

oooo
2P + 1 = 15(68068n + 14733)

goodoooOoboobooOooobOoboooUooOUooO0oDOobDUoUoDUObDOobobOooboOooboo
goodg

Q=110501 0000
P =510510n + 110501

2P 4+ 1 =2(510510n + 110501) 4+ 1 = 10210201 + 221002 + 1 = 1021020n + 221003

0000010210200 20 2003,5,7,11,13,17000000 1000000

221003 = 61 x 3623 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 221003

143



gboboobogobogoboboobboobooobooooboon

Q=1105030000
P = 510510n + 110503

2P + 1 =2(510510n + 110503) + 1 = 1021020n + 221006 + 1 = 1021020n + 221007

0000010210200 20 2003,5,7,11,13,17000000 10000000

221007 = 3 x 23 x 3203 x 1

oooo
2P + 1 = 3(340340n + 73669)

gooooooo3soooooooooboooooOobooboobDoobbOODoOoDbboUODboO
goo

Q=1105070000
P = 510510n + 110507

2P + 1 =2(510510n + 110507) + 1 = 1021020n + 221014 + 1 = 1021020n + 221015

0000010210200 20 2003,5,7,11,13,17000000 10000000

221015 =5 x 44203 x 1

oooo
2P + 1 = 5(204204n + 44203)

oboobobooosUObUobUobOOoOobo0obU0bDOobOUobObUOobUObDOobDOobObOOobOobDOoDOoo
goo

Q=1105190000
P =510510n + 110519

2P 4+ 1 =2(510510n + 110519) + 1 = 1021020n + 221038 + 1 = 10210201 + 221039

0000010210200 20 2003,5,7,11,13,17000000 10000000

221039 =7 x 7T x 13 x 347 x 1

oooo
2P + 1 = 91(11220n + 2429)

oooooooo9glooooooooooboooobooboooobooooobOboOoooboboOoooDObOn
oooo

Q=1105210000
P =510510n + 110521

2P + 1 =2(510510n + 110521) + 1 = 10210201 + 221042 + 1 = 10210201 + 221043
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0000010210200 20 2003,5,7,11,13,17000000 10000000

221043 = 3 x 73681 x 1

oooo
2P + 1 = 3(340340n + 73681)

g00obOooOo0o30b0bobooooobobOooOoOobOobobDOoboDobooobOobDOooDOoo
goo

Q=1105270000
P = 5105101 + 110527

2P + 1 = 2(510510n + 110527) 4+ 1 = 10210201 4 221054 + 1 = 10210201 + 221055
0000010210200 20 2003,5,7,11,13,17000000 10000000

221055 =3 x 5 x 14737 x 1

oooo
2P + 1 = 15(68068n + 14737)

goodoooOolboobooOooobOoboobooOooUooOoDOobOoOobLDOobDOoboooboooo
googo

Q=110531 0000
P =510510n + 110531

2P + 1 = 2(510510n + 110531) 4 1 = 10210201 + 221062 + 1 = 10210201 + 221063
0000010210200 20 2003,5,7,11,13,17000000 1000000

221063 =43 x 53 x 97 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 221063

goboobooobooboboobboobboobooobooo

Q=1105330000
P = 510510n + 110533

2P + 1 =2(510510n + 110533) + 1 = 10210201 + 221066 + 1 = 1021020n + 221067

0000010210200 20 2003,5,7,11,13,17000000 10000000

221067 =3 x3x7x11 x11 x29 x 1

oooo
2P + 1 = 231(4420n + 957)
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goog

Q=1105430000
P = 510510n + 110543

2P + 1 = 2(510510n + 110543) 4+ 1 = 10210201 + 221086 + 1 = 10210201 + 221087
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